L0038 6V'VET 9888y 6'91T L6T'ET 9 ST'SL TT'V| 88L'GEOT| 667'STT 8TY'1S vLE'6E €S MAUBLION Z( UdLIQAd O FLIOWMOLD
LT v 59 0z T'T 0 0 110 SET '6Y 80 9L oY gorx or yomesd gorrs
€000 0 0 S0 0 0 0 G865 L6'VT 0 0 ST dexeo
¥00°0 €00 %00 900 0 0 0 8z'0l = 100 0 1000 1 00z Weh 6001
SYT0 18 SL'E ¥'8T 0 0 0 0 0 0 0 S avoo
8870 ¥0'S 88°0C 9TTT 7L00 0 0 9t 8100 8LVT 756°C 7050 9¢ e
0 0 0 0 vy 0 0 0 668 0 666 0 OT|  owoewuong
€8Y'E 8€8C S'Tve 19'TT 9150 0 0 LL00 T'18C 0 ¥9'0C 66'€C S€ 01 00Ky
0 0 20 0 4% 0 0 0 6'68 0 666 0 OT|  omenuoeg
TLED 66 T'6T 96°LT 2900 0 6°LC 8100 9g'LT v16°C 7900 9TT'T 9 eaokuy
910 8'C 911 9 %00 0 z 100 '8 ¥9'T ¥0'0 870 0z *ur
870 T'sT w 80T 910 0 4 ¥200 ¥T 9L'C %00 [4°0) oy aaondon
7560 8EVT 81’19 90T 9010 0 T'T¢ LTT0 9'18|  8LTLT Yo ZT'% 90T|  awopodes 08/057 aonmoao Kieg 469 e2¢
0 0 10 0 ra 0 0 0 S6‘vY 0 S66'% 0 S woeg
0 T 9 6 100 9 500 5000 4 S0 1 Sz'0 0t —
¥80°0 95"y 99 vT'e 8v0°0 0 9’0 £00°0 v 8780 2100 9510 7T —
8700 ¥8°0 8Y'c 98T 2100 0 90 €000 9t 610 7100 ¥80°0 9 e
9600 vZ'T ¥8°€ 89°c 9100 0 80 €000 80C Lo 9100 8820 9T rndkip
600 ¢ ST9T 6'T G500 0 0 900°0f GL'ST SYE'E G500 5910 S enaoudou ]
60 4 8‘s (0] 10 0 0z 44 Ll €91 ¥'0 [4 00T awoouden 05t woTed MO HHI000E] 302
YA90
w | oswm | a | = q | v | o | A | x | g
rex) 4 Brroirg
("an) varddmMaE AanaredIHH A -uon sradong (4) BELIIMOIE JIIFIMH] OQHHEHOHIWHEH ‘Umuu wandyy mad a\

"X va gT LT

01-L- BIXHmMoIehAgo Bndoyare)|




